This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

Ward 4 - Central Buchan

4,657

4

932

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Jamie COLE-HAMILTON	Scottish Green Party	135
Charlotte Diana CROSS	Alba Party for independence	111
Geoff CROWSON	Scottish National Party (SNP)	705
Arif MAHMOOD	Scottish Labour Party	213
David MAIR	Scottish National Party (SNP)	744
Joanna MOORE	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	65
Steve OWEN	Scottish Conservative and Unionist	679
Hannah POWELL	Scottish Conservative and Unionist	871
Anne Margaret SIMPSON	Scottish Liberal Democrats	607
Norman John SMITH	Independent	527
	Total	4,657

This report contains the transfers results.

Stage 2 - Exclusion of Joanna MOORE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jamie COLE-HAMILTON	3	1.00000	3.00000
Transfer to Charlotte Diana CROSS	6	1.00000	6.00000
Transfer to Geoff CROWSON	5	1.00000	5.00000
Transfer to Arif MAHMOOD	2	1.00000	2.00000
Transfer to David MAIR	6	1.00000	6.00000
Transfer to Steve OWEN	11	1.00000	11.00000
Transfer to Hannah POWELL	12	1.00000	12.00000
Transfer to Anne Margaret SIMPSON	6	1.00000	6.00000
Transfer to Norman John SMITH	8	1.00000	8.00000
No further preference	6	1.00000	6.00000
Not transferred due to rounding			0.00000
	Total		65.00000

This report contains the transfers results.

Stage 3 - Exclusion of Charlotte Diana CROSS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jamie COLE-HAMILTON	7	1.00000	7.00000
Transfer to Geoff CROWSON	30	1.00000	30.00000
Transfer to Arif MAHMOOD	8	1.00000	8.00000
Transfer to David MAIR	24	1.00000	24.00000
Transfer to Steve OWEN	3	1.00000	3.00000
Transfer to Hannah POWELL	2	1.00000	2.00000
Transfer to Anne Margaret SIMPSON	4	1.00000	4.00000
Transfer to Norman John SMITH	16	1.00000	16.00000
No further preference	23	1.00000	23.00000
Not transferred due to rounding			0.00000
	Total		117.00000

This report contains the transfers results.

Stage 4 - Exclusion of Jamie COLE-HAMILTON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Geoff CROWSON	48	1.00000	48.00000
Transfer to Arif MAHMOOD	16	1.00000	16.00000
Transfer to David MAIR	23	1.00000	23.00000
Transfer to Steve OWEN	4	1.00000	4.00000
Transfer to Hannah POWELL	4	1.00000	4.00000
Transfer to Anne Margaret SIMPSON	24	1.00000	24.00000
Transfer to Norman John SMITH	10	1.00000	10.00000
No further preference	16	1.00000	16.00000
Not transferred due to rounding			0.00000
	Total		145.00000

This report contains the transfers results.

Stage 5 - Exclusion of Arif MAHMOOD

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Geoff CROWSON	22	1.00000	22.00000
Transfer to David MAIR	15	1.00000	15.00000
Transfer to Steve OWEN	17	1.00000	17.00000
Transfer to Hannah POWELL	13	1.00000	13.00000
Transfer to Anne Margaret SIMPSON	74	1.00000	74.00000
Transfer to Norman John SMITH	36	1.00000	36.00000
No further preference	62	1.00000	62.00000
Not transferred due to rounding			0.00000
	Total		239.00000

This report contains the transfers results.

Stage 6 - Exclusion of Norman John SMITH

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Geoff CROWSON	33	1.00000	33.00000
Transfer to David MAIR	50	1.00000	50.00000
Transfer to Steve OWEN	45	1.00000	45.00000
Transfer to Hannah POWELL	118	1.00000	118.00000
Transfer to Anne Margaret SIMPSON	231	1.00000	231.00000
No further preference	120	1.00000	120.00000
Not transferred due to rounding			0.00000
	Total		597.00000

This report contains the transfers results.

Stage 7 - Surplus of Hannah POWELL

	ı		
Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David MAIR	24	0.08627	2.07048
Transfer to Steve OWEN	833	0.08627	71.86291
No further preference	155	0.08627	13.37185
Not transferred due to rounding			0.00460
	Total		88.00000

This report contains the transfers results.

Stage 8 - Surplus of Anne Margaret SIMPSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Geoff CROWSON	92	0.01479	1.36068
Transfer to David MAIR	163	0.01479	2.41077
Transfer to Steve OWEN	191	0.01479	2.82489
No further preference	500	0.01479	7.39500
Not transferred due to rounding			0.00866
	Total		14.00000

This report contains the transfers results.

Stage 9 - Exclusion of Steve OWEN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Geoff CROWSON	33	1.00000	33.00000
Transfer to David MAIR	31	1.00000	31.00000
Transfer to Geoff CROWSON	30	0.08627	2.58810
Transfer to David MAIR	32	0.08627	2.76064
Transfer to Geoff CROWSON	11	0.01479	0.16269
Transfer to David MAIR	20	0.01479	0.29580
No further preference	695	1.00000	695.00000
No further preference	771	0.08627	66.51417
No further preference	160	0.01479	2.36640
Not transferred due to rounding			0.00000
	Total		833.68780